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Which committee was the basis for the
introduction of three-tier Panchayat Raj
system in India ?

(1) Ashok Mehta Committee

(2) Gadgil Committee

(3) Balwant Rai Mehta Committee
(4) L.M. Singhvi Committee

Satavahana University is located in the
district of

(1) Karimnagar

(2) Warangal

(3) Nizamabad

(4) Khammam

The first Chief Minister of Andhra State
formed in 1953, was

(1) N. Sanjeeva Reddy

(2) K. Brahmananda Reddy
(3) N.Shankar Reddy

(4) T.Prakasam

First woman Chief Minister of an Indian State
was

(1) Sucheta Kripalani
(2) Sarcjini Naidu

(3) Pratibha Patil

(4) Padmaja Naidu

Among the following liquids, which has the
maximum density ?

(1) Water

(2) Kerosene

(3) Diesel

(4) Mercury

In area, the smallest country in the world is
(1) Nauru

(2) Palau

(3) Tuvalu

(4) Vatican City

(4)
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7.

10.

11.

12,

13.

Which of the following programmes is
initiated by the Andhra Pradesh State
Government ?

(1) Aarogyasri
(2) Sarva Shiksha Abhiyan
(3) Prime Minister's Gram Sadak Yojana

(4) Mahatma Gandhi National Rural
Employment Guarantee Scheme

Pure gold is of how many carats ?

(1) 23

(2) 24

3) 22

(4) 25

Which material is mixed with gold for making
ornaments ?

(1) Zinc

(2) Copper

(3) Silver

(4) Magnesium

Brightest planet in the Solar System is
(1) Venus

(2) Jupiter

(3) Mercury

(4) Neptune

Father of Medicine was
(1) Aristotle

(2) Theophrastus
(3) Galen

(4) Hippocrates
Which of the
amphibious ?

(1) Monkey

(2) Frog
(3) Cat
(4) Zebra

The swollen part of carrot plant which is used
as vegetable is basically a

(1) Root

(2) Stem

(3) Flower

(4) Bud

following animals is

(5)

9.

10.

11.

12,

13.
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14.

16.

16.

17.

18.

19.

Infrastructure investment requirement during
12" Five Year Plan, projected by the Planning
Commission, is

(1) 45 lakh crores of rupees

(2) 55 lakh crores of rupees

(3) 65 lakh crores of rupees

(4) 76 lakh crores of rupees

How many Telugu writers have received the
Jnanpith Award so far ?

a 1

(2) 2

(3) 3

(4) 4

Oldest of the four Vedas is

(1) Atharvaveda

(2) Yajurveda

(3) Samaveda

(4) Rigveda

Nagarjuna Sagar Project was built on the
river
(1)
(2)

Krishna

Godavari

(3) Tungabhadra

(4) Mahanadi

Longest river in South India is
(1) Krishna

(2) Tungabhadra

(3) Bhima

(4) Godavari

Which among the following is a tributary of
Krishna river ?

(1) Bhima

(2) Kathajodi

(3) Penna

(4) Narmada

Which among the following is a unicellular
organism ?

(1) Hydra

(2) Amoeba

(3) Ringworm

(4) Earthworm

(6)

14.

15.

16.

17.

18.

19.
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21.

The first great social reformer of modern India
was

(1)
2)
&)
(4)

Raja Rammohan Roy
Guru Nanak

Swami Vivekananda
Devendranath Tagore

Of the following, a Member of the Legislative
Council became the Chief Minister of Andhra
Pradesh. Who was he ?

(1) T. Anjaiah

(2) D. Sanjeevaiah

(3) K Vijayabhaskara Reddy

(4) Bhavanam Venkatrami Reddy

Which of the following fruits is produced by a
dicot plant ?

(1) Banana

(2) Pineapple

(3) Apple

(4) Date palm

Which of the following is a stem ?
(1) Carrot

(2) Radish

(3) Potato

(4) Beans

First Chief Justice of Andhra High Court at
Guntur was

(1) P.Chandra Reddy

(2) K. Bhimsankaram

(3) A.Sambasiva Rao

(4) K. Subba Rao

(7)

21.
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26.

The gas used for filling balloons is
(1) Argon

(2) Neon

(3) Xenon

(4) Helium

As per 2011 Census, the most literate district
in Andhra Pradesh is

(1) Hyderabad
(2) Guntur

(3) Karimnagar
(4) Nellore

Who became the Chief Minister of Andhra
Pradesh three times during 1983 - 1994 ?

(1) K Vijayabhaskara Reddy

(2) K. Brahmananda Reddy

(3) J.Vengala Rao

(4) N.T. Rama Rao

Which Indian State was adjudged the Best
State for Governance by the India Today
Group in its “State of the States” study in
December 2013 ?

(1) Andhra Pradesh

(2) Gujarat

(3) Kerala

(4) Karnataka

New Chairman of the 20" Law Commission of
India appointed on November 22, 2013 is

(1) D.K. Jain

(2) AKX Patnaik

(3) T.S.Thakur

(4)  Ajit Prakash Shah

(8)
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31.

Of the following, who was awarded ‘Padma
Vibhushan' for 2013 ?

(1) S. Haider Raza

(2) Sharmila Tagore

(3) Gayatri Chakravorty
(4) Apurba Kishore Bir

Who received ‘Jnanpith” Award for 2012 ?
(1) Haraprasad Das

(2) Pratibha Ray

(3) Mukesh Ambani

(4) Ravuri Bharadwaja

Who, among the following, has never been the
Prime Minister of India ?

(1)
(2)
(3)
(4)

Morarji Desai
Gulzarilal Nanda
Dr. Rajendra Prasad
V.P. Singh

Kaziranga National Park is located in the
State of

(1) Rajasthan

(2) Madhya Pradesh

(3) Assam

(4) Orissa

The present Indian Air Force Chief is
(1) Arup Raha

(2) S.P.Tyagi

(3) N.C.Suri

(4) P.V.Naik

(9)
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86. First Governor of Andhra Pradesh was 36.
(1) Pattom Thanu Pillai
(2) Bhimsen Sachar
(3) R.D.Bhandare
(4) C.M. Trivedi

37.

Of the following holy places, which is most
visited by people ?

(1)
(2)
(3)
(4)

Annavaram
Basara
Yadagiri Gutta
Tirumala

First Dalit Chief Minister of Andhra Pradesh
was

(1)
(2)
(3)
(4)

D. Sanjeevaiah
D. Narasimha

K. Ranga Rao
None of the above

Of the following, which is a classical dance ?
(1) Bhangra

(2) Dhimsa

(3) Kathak

(4) Kolattam

Of the following religions, which is followed by
most people in the world ?

(1)  Christianity
(2) Islam

(3) Hinduism
(4) Buddhism

37.
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41. First Indian to get Nobel Prize was
(1) Rabindranath Tagore
(20 C.V.Raman
(3) Amartya Sen
(4) Hargobind Khorana

First Muslim President of Indian National
Congress was

(1) Ghaffar Khan

(2)
(3)
(4)

Rafi Ahmed Kidwai
Maulana Azad
Badruddin Tyahji

Dr. B.R. Ambedkar Open University is located
at

(1)
(2)
(3)
(4)

New Delhi
Ahmedabad
Hyderabad

Mysore

For most Indians, the main livelihood is
(1)  Agriculture
(2) Industries

(3) Teaching
(4) Software Services

Pulicat Lake is located in the district of
(1) West Godavari

(2) Krishna

(3) Nizamabad

(40 Nellore

(11)

41.
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46.

47.

49.

First sportsperson chosen for the honour of|46.
‘Bharat Ratna’ was

(1)  Virat Kohli

(2) Kapil Dev

(3) M.S. Dhoni

(4) Sachin Tendulkar

National Institute of Rural Development is
located at

(1) Ahmedabad

(2) Hyderabad

(3) Gorakhpur

(4) New Delhi

47.

Gond tribes live in the tribal areas of which | 48.
district ?

(1) Visakhapatnam
(2) Adilabad

(3) Khammam

(4) East Godavari

ggrd Commonwealth Heads of Government
Meeting was held in November 2013 in

(1) SriLanka

(2) Canada

(3) India

(4) Australia

National Bank for Agriculture and Rural |50.
Development (NABARD) has recently decided
to extend its ambitious scheme which is called

(1) Village Uplift Programme

(2) Village Renovation Programme
(3) Village Development Programme
(4) Village Adoption Programme
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51.

(13)
Lepakshi Temple is in which State ? 51.
(1) Madhya Pradesh
(2) Tamil Nadu
(3) Karnataka
(4) Andhra Pradesh

Leader of Opposition in Rajya Sabha at

present is

(1) Sushma Swara]
(2) Arun Jaitley

(3) P.J. Kurien

(4) None of the above

Magnus Carlsen is a famous personality in the
field of

(1) Chess

(2) Cricket

(3) Badminton
(4) Swimming
SEZ stands for
(1)
(2) Special Export Zone

Special Education Zone

(3) Special Engineering Zone
(4) Special Economic Zone

In November 2013, the World Conference on
Climate was held at Warsaw. Warsaw is the
capital of

(1)
(2)
(3)
(4)

Yugoslavia
Spain
Poland
Belgium
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56. 2020 Olympics Games will be held at 56.
(1) London
(2) Tokyo
(3) New York
(4) Ottawa

B7.

Present Comptroller and Auditor General of
India is

(1) Vinod Rai

(2) V.N.Kaul

(8) Y.V.Reddy
(4) Shashi Kant Sharma

How many seats does Andhra Pradesh have in
the Rajya Sabha ?

(1) 16

(2) 17

(3) 18

(4) 19

In area, which is the largest district in Andhra
Pradesh ?

(1) Ranga Reddy
(2) Karimnagar

(3) Anﬂntap'l,u
(4) Visakhapatnam

Aam Admi Party formed the Government in
Delhi on

(1) 28-12-2013

(2) 25-11-2013

(3) 25-1-2014

(4) 20-12-2013

57.
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64.
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665.

68. The average of 25 numbers is 40. If the

In a mixture of 25 litres, the ratio of milk and
water is 3 : 2. If 2 litres of water is added to
the mixture, the ratio of milk and water in the
new mixture is

(1) 4:3

(2) 5:4

3y 3:4

(4) 4:5

average of the first twelve of them is 35 and of
the last twelve is 45, the thirteenth number is

(1) 32
A2)” 36
(3) 40
(4) 42

The average marks of 10 students is
calculated as 68. Later it is observed that one
student’s marks are entered as 46 instead of
36. The correct average is

" 67
(2) 69
@ 70
4 71

Three numbers a, b, ¢ are such that a = 2b and
b = 3ec. If the average of a, b, c is 60, then the
largest of a, b, c is

(1) 78

(2) 88

(3) 98

@ 108

(16)

(4]
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D™ 46 eI THiy Kdomh.
HOGEHS BoHd

(1)
(2)
(3)

67
69
70

4 7

Sared> Somgew a, b, ¢ @ a = 2b, b = e

ﬂcﬁ)segabm:. a,b, c ® S0°H0 60 eond a, b,

cod DGO

(1)
(2)
(3)
(4)

78
88
98
108
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70.

T1.

Three years ago, the average age of A and B
was 35 years. The present average age of A, B
and C is 40 years. The present age of C is

(1)
(2)
(3)
(4)

42 years
43 years
44 years
45 years

A can do a work in 16 days. B is 60% more
efficient than A. The number of days in which
B completes the work is

1y 9

(2) 10
@ 11
(4) 12

A and B can do a piece of work individually in
15 days and 10 days respectively. If they work
together for 3 days, what part of the work is
completed ?

(1

(2)

(3)

(4)

o= G ] ) e

If 18 kilometers per hour is equal to x meters
per second, then x =

(1) &
(2) 4
(3) 3

4) 1

{17}

69.

70.

71.

72,

(4]

DA DOJTYTO S0 A, B © 50750 SOR
36 Rdoddywrw A, B, C o Ed RHorRD
Sobiy 40 JoSihTrey. (Bydo C Sabin

(1) 42 HoSsyoren

(2) 43 Soddyore

(8) 44 JodSyorew

(4) 45 DoS&ore

e 3 A 16 S'erd Sdbiio. A 508 60%
IS Yo SoTed B. &3 B I8
Sonngst'are Somy

1) 9

(2) 10
(3) 11
4) 12

A, B @ &5 390 282&m Su5m 15 Seren,
10 Swod’ $rg Ith. TOGEr SO Sored
Feren 50030 df o8  grio DD

SradabKet ?

(1)
(2)

(3)

B = 0o = s om|

(4)

Kot 18 85 heag, DERDH x Wexgowd x =

(1) &
(2) 4
(3 3
(4) 1
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73.

4.

5.

76.

If the height of a right-angled isosceles
triangle is ‘a’ em, then its hypotenuse is of
length (in cm)

1 Ja

(2 +J2a

av2

@ |2

2

(3)

A merchant sold two items A and B at ¥ 990

each. If he gets a profit of 10% on A and incurs
a loss of 10% on B, then in the whole
transaction he makes

(1)
(2)
(3)
(4)

1% profit
1% loss
3% profit
3% loss

A merchant purchased 12 dozen of fruits at
¥ 50 per dozen and could sell only 11 dozen at

¥ 60 per dozen, while another dozen got
spoilt. Then he makes

(1) ¥ 50loss
(2)
(3)
(4)

T 50 profit
¥ 60 loss
T 60 profit

A discount of 30% on the marked price of an
item reduces its price by ¥ 21. The marked

price of the item is
(1) T 100

(2) T80

3 T70

4) T80

{18)

73.

4.

75.

T6.

[A]

e¥ ooof'tad SHOErIY Bghe) K a
20.20. wond o 5GP ED (Ro.. of)

Ja
v2a
av2

(1)
(2)
(3)

a
4) -
[ 2

28 5§ A, B &3 ot 5o e5),5,8
T 990 § eliryd. e8)i A D 10% orgio O,
B D 10% g0 353 & Ingo o3I ©sdS
S5od

(1) 1% ordgio

(2) 1% Sgc

(3 3% ogio

4 3% S50

28 SGHD Se T 50 THpS 12 ey SogDd
£ G T 60 THps 11 Gesgid SmEd
oy ¥, HB'S Geid Sofy SEVaI.

et esdd
(1) ¥ 50350
(2) ¥ 50ergio
(8) ¥ 60530
(4) ¥ 60 ordio

28 S0P OS50S Jeodp 30% Tond 3y
30 T 21 BHHod. eSyD) BEeSIe

(1
(2)
(3
(4)

T 100
T 80
T 70
T 60
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77.

78.

35% of x + 20% of x =

Tx
20

5x
20

1k
20

1)
2

@

4)

X

10

If A is more than B by x% of B, then A =

x +100
o B(:)
(2) Bx
100
{2 B'(100+x)
0 (2
100

If 40 students represent 8%% of the number
of students in the school, then the total
number of students is

(1) 320

(2) 480

(3) 600

4) 720

The compound interest on ¥ 2,000 for 2 years

at 10% per annum is
(1) T 380
(2) T 400
3) T 420
(4) T 480

(19)

77.

78.

79.

x & 35% +x & 20% =
7x
20
5x
20

1ix
20

(D
2

3

X

4) 10

B 5083 A, B & x% %)% @008 ebyntd A=

B (x + 100]
100

Bx

1)

2)

B. 100
100+ x)

B [x - 100)
100

¥ a’:rbeoésﬁ) 8%% Ao Doy 40 ©oNB

(3)

4)

&3 S end’d Ingo I KOs

6y
(2)
3)
4)

320
480
600
720

T 2,000 P POIBTRVE 10% 3¢ Cews 2
ROSBYTOH BESG

T 380

T 400

T 420

T 480

1)
(2)
3
4)
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81.

Let S be the simple interest for one year on a
principal P at r% per annum and let C be the
compound interest (calculated annually) for
one year on the same principal at r% per
annum. Then

(1) C=8

(2) C=28

1
3 C= ES

1
4 = =
4) C ES

A rectangular carpet has an area of 120 sq. m
and perimeter 46 meters. The length (in
meters) of its diagonal is

1 17
(2) 15
(3 13
(4) 11

For a circular cylinder, the curved surface
area is 66r sq. units, where r is the radius of
its base. The height of the cylinder is

(Taken=5':i_—2}

(1 1
(2) 2
(3) 105
4 21

A cube having edge 3 cm is cut into small
cubes each with edge 1 em. The number of
ma}lcubeuia

1 3
2 9
@ 27
4 81

A circular wheel has radius 0-63 meters. The
distance covered by the wheel in 1000
revolutions is

(1) 990 meters

(2) 1980 meters
(3) 2970 meters
(4) 3960 meters

(20)

81.

82.

[A]

©do P R 1% Do58y08 Gend 8 $o38y
Do 3G S e».:aﬁ‘)cd ol ode P D r%
050 ae.ns‘ 50
84 00ty) ok SESG
C @S0l eiiptd

(1) C=8

(2) C=28

1
==58
2

(RosEyorRs
RHoSSyo IS

(3)

1
4 = —
(40 C 35

28 8Y SO S0 Jrrop 120 S.8,;
TR Sepfed 46 b «dTD IEPFED

(bexge)
® 17
@ 15
@ 13
@ 11

TR0 T EBS 08 HTSCITIY IEnso
o0 66r SEEYH ALy, & SpSY I
(a6 7= 2 odbnEod)

(1) 1
(2) 2
(3) 106
4) 21

3 0.0, woi Q5 ¥ WD) 1 2o..
eoiH 5% P PoTrenrr $G0oTD. & D)
Tre R’)ca:»s

(1 3

(2 9

(3 27

(4) 81

&8 HTSY SEY TErgo 063 ey, b
1000 giveren Sabeod® Hatrredod arso
(1) 990 ety

(2) 1980 ety

(3) 2970 Doty

(4) 8960 doesty
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86.

2
MEE
)

The volume (in cc) of a rectangular box with
length 16 cm, breadth 8 cm and height 7 cm is

(1) 420cc
(2) 840cc
(3) 1260 ce
(4) 1680 cc

The volume of a circular cylinder with radius r
and height h is

(1) 2nrh

(2) wrh

3 wr’h

@ 2m’h

A rectangular plot is of length 50 meters and
breadth 35 meters. The cost of cleaning the
plot at the rate of ¥ 10 per square meter is

(B T 17,600
(2) ¥ 1,750
(3 T17

(4) T 17-50

A tank of height 9 feet with a square base has
volume of 144 cubic feet. The length of the side
of the base is

(1) 4 feet
(2) 5 feet
(3) 6 feet
(4) 7 feet

—2E+J§+J2m=

46
546
66
7J6

1

(2)
(3)
(4)

(21)

86.

(Al

15 20.%. 6P, 8 20.0. I&ey), 7 vo.D.
(0.20.. o8')

(1) 420c¢cc

(2) B840cc

(3) 1260 cc
(4) 1680 cc

:Fsé*go r, 28 h 585 e85 HTso BN
AoRSBrE0

(1) 2mrh

(2) wrh

@ nr’h

@) 2n’h

28 BF SSBRTEY FJew >EY 50 ey,
SGay 36 e SEEYH DOHH T 10
S3ps & Jtnd HPoIanerdS edby iy
(1 T 17,500

(2 T 1,750

3 T175

(40 T 1760

9 edibo W o5 E’QE SEUY egrbo
SOD, T HSBSrm0 144 Y &b,

& 4oy oo PEY
(1) 4 eadofo
(2) 5 el
(3) 6 etibw
(4) 7 e

2
3
(1)
(2)

(3)
(4)

-2E+JE+J213=

46
546
66
76
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91. If “EDUCATION” is coded as “DCTBZSHNM" | 91.
in a code, then the code word for “QUESTION"
is
(1) PTDRSHNM
(2) PDTRSHNM
(3) PTRDSHNM
(4) PRTDSHNM
92. If each letter in the English alphabet is moved | ga_

forward by three letters cyclically in a code
(that is, A->D,B->E, .., X5 A Y- B,
Z —» C), then the word coded as “DUOB" is

(1) ONLY

(2) ARLY

(3) GOBY

(4) SONY

Directions : In questions 983 to 95, the given

83.

sequences follow a pattern. Identifying
it, you have to fill the blanks with the
appropriate alternatives given.

1, 5, 14, 30, 91
(1) 42
(2) 46
(3) 66

(4) 81

4,10,28,82, _____, 730
(1) 112
(2) 218
(3) 244
(4) 343

ACE, BEG, CGI, EKM
(1) DIK
(2) DKI
(3) DLJ

(4) DJI

(a]

ey §E68 “EDUCATION” o3 3o
“DCTBZSHNM" m §& 3§ womé
“QUESTION" & §°E 3650

(1) PTDRSHNM

(2) PDTRSHNM

(3) PTRDSHNM

(4) PRTDSHNM

goflhy eEESredd B0 ofod S

wfoe Svo® Sdator 85 ¥ 55
wond (@of, A->D,B-E, .,X-A
Y - B, Z 5 C), o3& “DUOB” m §'&
Saveds B850

(1) ONLY

(2) ARLY

(3) GOBY

(4) SONY

N D¥ : MMMJ@H&MMMW

93.

SO Faw. b  MWod,  IOdD
BArgT) SED, g¥oid Froooe.
1,5,14,30, ___ ,91
(1 42
(2) 45
(3) 55
4 81

4,10, 28,82, __, 730
(1) 112
(2) 213
(3) 244
(4) 343

ACE, BEG, CGI,
(1) DIK
(2) DKI
3 DI
4) DJI

, EKM




VRA/888 (23)
Directions : In questions 96 and 98, choose the odd | /R0I¥ : 96 DO 98 SHOS® SOHOITY oD

one out. Sabod,
98. (1) 53
96. (1) 653
(2) 63
(2) 63
(3 T3
(3) 173 )
@) 83 4) 83
97. (1) 14
97. (1 14 2 16
@ % 4 81
il 98. (1) AB
98. (1) AB (2) DE
(2) DE (3) FH
(87 FH 4) PQ
4) PQ

99. 2015 3 DoSHGos grodab Hesso

aFEys0 T8’ D Ferd ethPs & eoTrysn
99. The day of the week on which the Indian

Republic Day will be celebrated during 2015 is 1) oo
(1) Monday (2 en&Trso
(2)  Wednesday @)  WHETo
() Friday s
(4) Sunday

100. If (a — b) is divisible by m, then we write|100. (a ~ b) @ m gAY a = b (mod m) &) T°=ro.
a=b (mod m). The correct among the 208 F26° Blelaiiialal
following is
(1) B87=3(modB8)
(2) 97=3(modB)
(3 107 =3 (mod 8)
(40 117 =23 (mod 8)

(1) 87=23(mod8)
(2) 97=23(mod 8)
(3) 107 =3 (mod 8)
(4) 117 =3 (mod 8)




